
Ta
n

d
w

ie
lk

a
st         P

K
F

 2
5

0
 

®
 P
ro

d
ito

 n
v

  /  S
in

t-A
n

to
n

iu
sb

a
a

n
 2

7
8

  /   B
-2

9
8

0
 Z

o
e

rse
l  /  in

fo
@

p
ro

d
ito

.co
m

  /  w
w

w
.p

ro
d

ito
.co

m
  /  T

e
l 0

0
3

2
 3

 3
8

3
 0

5
 0

6
  /  F

a
x

 0
0

3
2

 3
 3

8
3

 4
2

 8
1

 

V
a
n
 a
r
�
k
e
l P
K
F
 4
0
0
 A
0
0
1
 to

t P
K
F
 2
5
0
 A
0
3
3
 



POS. OMSCHRIJVING ARTIKEL NR AANTAL  PRIJS PER STUK 

    EXCL. BTW 

1 Behuizingshel>en PKF 400 A001 2 € 109.00 

2 Kopschroef  M6X22 PKF 400 A002 2 € 0.16 

3 DraadsA>  M6X20 PKF 400 A003 4 € 0.10 

4 Kopschroef phillips M6X8 PKF 400 A004 4 € 0.10 

5 Handvat PKF 400 A005 1 € 10.00 

6 Schroef M6X20 PKF 400 A006 2 € 0.10 

7 As PKF 400 A007 4 € 7.00 

8 Tandwiel PKF 400 A008 1 € 64.00 

9 Schotelveer (kunststof) PKF 400 A009 2 € 0.26 

10 Roller PKF 400 A010 8 € 16.26 

11 Lager D32 x 12 PKF 400 A011 8 € 1.12 

12 DichAngsring D12 PKF 400 A012 8 € 0.36 

13 Lagerbus PKF 400 A013 8 € 0.46 

14 Schotelveer D12 PKF 400 A014 8 € 0.16 

15 6 kant moer M12 x 7  PKF 400 A015 8 € 0.17 

16 6 kant moer M6 x 65  PKF 400 A016 1 € 0.56 

17 Spanschroef M10 x 131 PKF 400 A017 2 € 12.98 

18 Spanblok PKF 400 A018 2 € 21.62 

19 PassA> 8 x80 PKF 400 A019 1 € 1.25 

20 PassA> 5 x 16 PKF 400 A020 4 € 1.58 

21 Dubbel tandwiel PKF 400 A021 1 € 75.75 

22 Dubbel tandwiel PKF 400 A022 1 € 54.39 

23 Lagerbus D16 x D22 x 16mm PKF 400 A023 4 € 1.96 

24 Lagerbus D16 x D22 x 20mm PKF 400 A024 2 € 2.38 

25 Schotelveer D10 PKF 400 A025 4 € 0.13 

26 Pasring M10 PKF 400 A026 2 € 3.18 

27 6 kant moer M8 (zelf zekerend) PKF 400 A027 2 € 0.09 

28 Schotelveer D6 PKF 400 A028 2 € 0.05 

29 Grondplaat blokkeerpen PKF 400 A029 1 € 14.00 

30 Draaischijf blokkerpen PKF 400 A030 2 € 17.63 

31 Schotelveer D8 PKF 400 A031 2 € 0.07 

32 6 kant moer M8 (zelf zekerend) PKF 400 A032 1 € 0.16 

33 Kunststof grip PKF 400 A033 1 € 1.05 

P
R

IJS
LIJS

T
 2

0
1

6
 

®
 P
ro

d
ito

 n
v

  /  S
in

t-A
n

to
n

iu
sb

a
a

n
 2

7
8

  /   B
-2

9
8

0
 Z

o
e

rse
l  /  in

fo
@

p
ro

d
ito

.co
m

  /  w
w

w
.p

ro
d

ito
.co

m
  /  T

e
l 0

0
3

2
 3

 3
8

3
 0

5
 0

6
  /  F

a
x

 0
0

3
2

 3
 3

8
3

 4
2

 8
1

 

nota 


